q3 3, lim 33_”3_"'5_”, is

A -5 B) -2 <) 1 D) 3 (E) nonexistent

?] 29, lim 179950 .

0-0 2gin? @

: 1
(A) 0 (B) 3 C) % o) 1 (E) nonexistent

%5 37. lim (xcscx) is

x—0
(A) - B -1 (C) ¢ D 1 E)
2
89 5. lim— " j
= p” 410,000
1 .
A) O B —— O 1 D) 4 E) nonexistent
()} ()2,500 (9] D) (E)
_ 2
8 3 111%—___1 cos (@) _
X—> X
e :
A) 2 By 0 O 1 (D) 2 E) 4
. 2 2
Qg 83. If a=0, then lim = —%_ s
X—a x4—a4
E *) B) —- © D) 0 (E) | nonexistent
a* 2a? 6a>

B



?? 21.

X
lim— is

23 2.
ec

x>linx
L (E) nonexistent
— © 1 D) e
Ay 0 B) »
T B
Ifkisa positive 1nteger, then xl_l)Iilm ;"— is
A 0 B) 1 (C) e D) k! (E) nonexistent
¥
38, lim (1+5¢% ) is
X—ya0
(A) 0 (B) 1 ©) e D) & (E) nonexistent
- f(0) .
If f(x)=2x%+1, then lim f(i))-cﬂl is
(A 0 B) 1 ©C) 2 D) 4 (E) nonexistent
—

? I5.

S

The graph of the function S is shown in the figure above. Which of the following statements about
J is true?

(A)
B)
(©
®)

E)

ji_lng(x)ﬂ{l}%f(x)
Jlim f(x)=2
Iim f(x)=2
Iim f(x) =1

lim f(x) does not exist.
x—=a
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Q; 79. Let f be a function such that lim

F

g

71. The figure above shows the graph of a function f with dom

are true?

L lim f(x) exists.
=27

II. lim f(x) exists.
x-32F

HI lim f(x) exists.
x—2

(A) fonly (B) Il only (C) Tand II only

=0

I f is continuous at x = 2.

IL. fis differentiable at x = 2.

o 1 3 3 4

Graph of f

F2+h)-£(2)

ain 0 < x < 4. Which of the following statements

(D} Iand III only (B) L1, and T

P =5. Which of the following must be true?

II.  The derivative of J is continuous at x =2

(A) Ionmly (B) I only

(C) TandIIonly

(D) ILandIll only (E) IandIIl only

35 41. If lim f(x) =L, where L is a real number, which of the following must be true?
X—>da

(A)  f'(a) exists.

(B) f(x) is continuous at

(C)  f(x) isdefined at x =

D flo=L
{E) None of the above

X=d.

a.
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X
(A) f' existson (a,d).
(B) If f(x) is a maximum of £, then f*(x;)=0.

_ (C) lim f(x) =f( lim xJ for xo € (a.b)

] XX X=Xy

D) f'(x)=0 forsome xe[a,b]

(E) The graph of f* is a straight line.

_ ?3 45. If f is a continuous function on [a,], which of the following is necessarily true?

?9 41. If lim f(x) =7, which of the following must be true?

x—3

I. f iscontinuousat x=3.
. [ isdifferentiable at x=3.

L. f3)=7
(A) None (B) II only
(D) TandII only (BE) L 1L, and III

(C) Tlonly

Inx for0<x<2
12. If = . then li is
9’5 f(x) {xz by for2<x<g henlim F(x)

x—2

(A) In2 (B) In8 ©) ml6 D) 4

(E) nonexistent

38' 5. Let f be the function defined by the following.

sinx, x<0
_x;2 0<Lx<l1
2—x. 12x<2

x—3, x22

For what values of x is f NOT continuous?

(A) Oonly  (B) 1onmly (C) 2 only (D) 0and?2 only

E) 0,1,and2
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